

Page 1 of 1

Florida Department of Transportation



Letting:

Vendor Ranking

Call Order: 006 Contract: E1S42-R0

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

April 18, 2019 11:00 AM

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272727205 (*)

Contract Desc: Herbicide Application

01190418

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROAM ENTERPRISES LLC	Responsive	Winning bid	\$51,594.90	100.00%
2	KRAUSE GROVE SERVICE, INC.	Responsive	Non-Winning Bid	\$65,584.49	127.11%
3	CWA ENVIRONMENTAL SERVICES LLC	Responsive	Non-Winning Bid	\$65,616.95	127.18%
4	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$98,730.36	191.36%
5	WATERS BROTHERS ENVIRONMENTAL I	Responsive	Non-Winning Bid	\$112,020.16	217.11%
6	DEANGELO BROTHERS LLC DBA AQUAG	Responsive	Non-Winning Bid	\$216,445.62	419.51%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 01190418 April 18, 2019 **Call Order:** 006 **Contract:** E1S42-R0

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272727205 (*)

Contract Descr: Herbicide Application

The work under this contract consists of Herbicide Application.

Line No / Item ID Alternate	Quantity Units	(1) ROAM ENTERPRISES LLC		(2) KRAUSE GROVE SERVICE, INC.		(3) CWA ENVIRONMENTAL SERVICES LLC		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 CHEM WEED AND GRASS CONTROL (AC)								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)	1,129.140 AC	35.00000	39,519.90	44.49000	50,235.44	44.25000	49,964.45	
0010 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	330.000 AC	35.00000	11,550.00	44.49000	14,681.70	44.25000	14,602.50	
0015 E580337 6 HERBICIDE (HAND APPLICATION)	15.000 AC	35.00000	525.00	44.49000	667.35	70.00000	1,050.00	
0001 CHEM WEED AND GRASS S CONTROL (AC)	ection Totals:	I	\$51,594.90	I	\$65,584.49		\$65,616.95	
Contract G	rand Totals:		\$51,594.90		\$65,584.49		65,616.95	



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

Letting:	01190418	April 18, 2019	Cal	l Order: 006		Contract:	E1S42-R0			
	o / Item ID Alternat	e Quantity Units	(4) AIRBOAT ADDICTS, INC.		(5) WATERS BROTHERS ENVIRONMENTAL I		(6) DEANGELO BROTHERS LLC DBA AQUAG			
	ites item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
•	SECTION: 0001 CHEM WEED AND GRASS CONTROL (AC)									
	580337 2 E (STRIP APPLICATION)	1,129.140 AC	62.95000	71,079.36	75.98000	85,792.06	133.00000	150,175.62		
HERBICID	580337 4 E (STRIP ION)(AQUATIC)	330.000 AC	74.95000	24,733.50	75.98000	25,073.40	168.00000	55,440.00		
	580337 6 E (HAND APPLICATION)	15.000 AC	194.50000	2,917.50	76.98000	1,154.70	722.00000	10,830.00		
0001 CHE	M WEED AND GRASS S CONTROL (AC)	Section Totals:	l	\$98,730.36		\$112,020.16	l	\$216,445.62		
	Contract G	rand Totals:		\$98,730.36		\$112,020.16		216,445.62		



Florida Department of Transportation

05/02/2019

Tabulation of Bids

Page 3 of 3

Letting: 01190418 April 18, 2019 **Call Order:** 006 **Contract:** E1S42-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.